1140814

AE S IR A L T A B [ PR/ N 1 1 4B A | B ) e e
| ey | mowe | mowa | mmes | swas 0L
— 278 Willge(2-1) | fRERB4-1) | RIGF(6-1) B [=E = 1
sl FiE BEiRA(2-2) | RHEMA-2) | EXE(6-2) & 2
= FMT ZIFin(2-3) F{#E=(4-3) SREAET(6-3) EmEk 3
FHER ZiRR(1-1) | EEMA4-4) | FEFERF6-4) ERHE (R 4
Gl ERSiE SZE(1-2) | BREGEEB-1) | sRIRE(5-1) MHE xR 5
N BEER T BEH(1-3) HIP(3-2) | #iB(5-2) BER 6
+ HR= 533k FIRAE(3-3) 5FEF(5-3) 15 R 7
— | #ilpE(2-1) ZI{ERE =INF(6-1) REB(4-1) M98 8
— | BERFE2-2) FEHEE EXE6-2) | REMAE-2) B e 9
= | BlIEid2-3) FRT sRBAET(6-3) | RFES(4-3) E ot 10
| ERE(1-1) FHER PRZEAF(6-4) EEFH(4-4) =Py 11
| ®23EEN(1-2) BRI BRIF=E(5-1) | BREZEE(3-1) TR 12
N | EBAE-3) fEEL A (5-2) mai2(3-2) B 13
+ B & HR= & FEFH(5-3) FIRAE(3-3) MEE 14
— Z|fEEE MimE(2-1) | fREEI4-1) RINGF(6-1) BER 15
. FifRE BEITS (2-2) RHIM4-2) EXE(6-2) 15 R 16
= FWT ZIFih2-3) | FAHRT4-3) | IEEAE(6-3) FRE2R 17
THER ZiE(1-1) EEM(4-4) PEZRATF(6-4) Fi8%n 18
Gl BRI FIEW(1-2) | BEEEREE3-1) | SRIFE(5-1) AL 19
A PEEL FHH(1-3) | HEE(3-2) | MiRE(5-2) =Yy A 20
+ B = 533k FIRAE(3-3) & EF(5-3) 3¢ ] 21
1. BRHE(R 2. MEF &R 3.BER 4. 55185 5. BinifE

Bol oxmm | mam 8 18 0. EBH:




1140814

AESE IR AL 38 7 B B B B/ NV 14240 T B R A
| e | o | mow | mme | swes (G
| #AKiEE2-1) 2lf=nt REWE(G-1) | REE4-1) FR {5 1
= | EiRZFE2-2) = EXE(6-2) | RHEHiM@4-2) MWHERE 2
| BIEI(2-3) = oRBAET(6-3) ER=(4-3) BER 3
fi | ERE(1-1) FHETR BRZEAF(6-4) EEFH(4-4) 15 4
No| wEI(1-2) ER &g BRIFE(5-1) | BREBEE(3-1) HE1E 5
+ | EBHH(1-3) fEEZ ilBE(5-2) #EI(3-2) Fi8%h 6
— 533k EES ZFEH(5-3) FIRAE(3-3) EA=E = 7
- ZI{50E WilgE(2-1) | fRERB4-1) | RIWF(6-1) & i 8
= ki3S B (2-2) | REMAE-2) | EXE(6-2) EEH 9
) FmT ZFih2-3) | RF=(4-3) | 5RBAEH6-3) ERHE(R 10
B FHER ZiR(1-1) | FEER@E4-4) | BREF(6-4) ME R 11
A BRI BEWN(1-2) | BEEEG-1) | BRINE(S-1) BER 12
+ fEEL FHAH(1-3) m=(3-2) A (5-2) 15 B 13
— AR = B 2 FIRAE(3-3) & EFH(5-3) MR 14
| ARE(2-1) 2=t REWS(6-1) | RIEB4-1) Fig%n 15
= | ERE2-2) FiME FXE(6-2) | REHiM@4-2) B I=E= 16
L ZIFi(2-3) FRT oRAAET(6-3) EF=(4-3) =Py 17
| EiRE(1-1) FHETR PEFEAF(6-4) EE(4-4) =3y 7 18
N | B2EZ(1-2) ER &I sRINE(5-1) | BREEEE(3-1) ERHE 19
+ | EBHH(1-3) BEEZR iRBE(5-2) a2 (3-2) HEE 20
— B % HIR= ZFEF(5-3) FIRAE(3-3) BER 21
1. AR 2. MFR 3. BER 4.5518% 5. BixifE
*’ég 6. EBH 7 A58 8 H 4R 0. EtE#




